	ECE414 Fall 2002

Quiz 2 (open book)
	Name 
	

	
	Mark
	 / 25


[image: image4.jpg]VDD

it 12
ip

Up



1.  For the circuit shown below, Vt=2V, kn(W/L)=1mA/V2, VDD=10V, vgs=0, Find VGS for a DC biasing current of ID=2mA. What’s the maximum resistance RD to keep the MOS as amplifier? (10 points) 
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2. For the same circuit above, assume RD=2k, Vt=1V, kn =20uA/V2, L=10um, VGS=2V, neglect ro, find channel Width W that results voltage gain of 2V/V. Also find required ID. (10 points) 
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3.  For the circuit below, Iref=100uA, (W/L)1=10, (W/L)2=20, find Io. Further assume kn’=20uA/V2, find VGS. If Vt=1V, what is the minimum Vo? (5 points)
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